MAPA MENTAL
TRIANGULO RETANGULO

Gateto2 = projecao.hipotenusa ) ¢<——

Caltura2 = projegéo.projegéo) <

C hipotenusa.altura = cateto oposto.cateto adjacente) ——

RELACOES A
METR(E:CAS . TRIANGULO

RETANGULO

e

RELACAO FUNDAMENTAL:
sen?(a) + cos?(a) = 1

sen(a) = cos(90°- «)
cos(a) = sen(90°- a)

CATETO OPOSTO
HIPOTENUSA

sen(a) =

Ll

_CATETO ADJACENTE

N

cos(«) =——IEGTENUSA

RELACOES
TRIGONOMETRICAS
l

30° 45° 60°
| 2| 1 | 3

tg(a) = CATETO OPOSTO
CATETO ADJACENTE

!

Eg(a) =

sen (a)
cos (a)
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